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Q.7 Explain the working of a JK flip-flop with a truth table and
logic circuit.
T T dlfasl 3R d& afde F TT IF Foa9-Fald & DS

I TEIT W

OR
Design a 4-bit ripple counter using JK flip flop.
JK TFeIT Fellq T 39T aah 4-fae Ruer #3ex Bomsa #|
Q.8 What are logic gates? Give the graphic symbol, algebraic
function and truth table of various logic gates.
difoler Ae T g2 A ad, o & 3R (e aifos
Acd FHr g drferhr ¢
OR
Explain ASCII code, Gray code, BCD code and EBCDIC Code
with examples.
3ETE0T & | ASCIl @13, 3 13, BCD &5 3R EBCDIC I3 §dU]|
Q.9 Express +39 and -39 in 1’s complement form and 2’s
complement form.

ad He+39 3T -39 1’3333:{?@3?34‘\?2’5%%@!\0@

OR
Draw the logic diagram of a 4 x 1 multiplexer and explain.

4 x 1 AcCICAFH T dlifoleh 3R IATT 3T FHSIT
Q.10 What is number system conversion? Convert fql ng octal

number to hexadecimal number;(153)s = (?)
FeY fiees suiator Fr Erfarad z@&w i

eFarsfFe T&AT H dcel; (153)s = (?)16
OR
Write short note on any three;
(@) Register (b) Memory (c) T flip flop (d) Don’t care conditions
el Y er 9X HfaeT e ford;

(U) T (@) AR (A T Fa1g (F)e@HTT S Tufa 787 &
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Q10 @ Type Question.
1 IMQ a read operation the CPU fetches :
. A%A program instruction (b) data itself
Q\ (c) Another address (d) all of the above
O T 3 IR & G A gred e §
(V) T ®RIHA 6 (T) 3T &
(@) T IR gar  (9) W & T
2 Which of the following is not a computer bus?

(a) Data bus (b) Control bus
(c) Timer bus (d) Address bus
fArATafld 7 @ &l FgeX a7 81 82

(T) ser 99 (@) fgaor s

() CIsHAT 98 (7) T3H §9
3 Which of the following is not a basic element within the

microprocessor?

(a) Microcontroller

(c) Arithmetic logic unit (ALU)
BCA-15

(b) Register array
(d) Control unit

PTO



(2)
rafafad 7 ¥ Fi9 ATHITR & MR T FT ded A4 &2
(T) HATSHIheloRk (@) e Eofr
(@) 3FOIT aF sHE (ALU) CIRGEENE-CoN

4 ABCD counter is a
(a) Binary counter
(c) Decade counter

(b) full-modulus counter
(d) divide-by-10 counter

TF A FEEX TH gl

T) SIS 13T

(|) &R A3

(@) quT ATdF H3eT
(7) fariad -10 Hr3ex

5 What are the symbols used to represent digits in the binary
number system?
(@ 0,1 (b) 0,1,2  (c) 0 through 8 (d)1,2
I JAR FAECA A 3l FT gidfAfcd Fa & fov wia @
Yl &l 3T fhaT SATaT &2
(@) 0, 1 @)0, 1, 2

Short answer type question 5\9 = 15)
Q.2 Describe error detection and correcting codes. e its
applications.
I T g A ﬁ*ﬁsﬁﬂﬁﬂﬂﬁﬂ?@ﬁﬂﬁl SHh
3Tyt faf@e

Section — B

OR
Make a neat architecture of computer and show internal
functionality.

HTIET I Teh HIH-FAT INfeheae’ TAW AR AR SHrAaTaar

el
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(|)0 & 8 1\6\0

©)

Q.3Write five differences between multiplexers and de-
multiplexers.

Acdtaaray 3N e-AIcady & g Ui IaX ford|

OR

Explain the functionalities and applications of decoders and

€

ncoders.

f3ehIsT 3 TSt S HRIGTACT 3R oI T sgredr wi|
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Q.6
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ram for full adder.
afse 3@ diH

Draw the circuit‘
quT Arsteh

Conv %{h@demmal fraction 2550.312510 to binary number.
QT & 2550.312510 SSe{T e H scell

Section—C
answer type question (5x6=30)
Explain the working of a RS flip-flop with a truth table and
logic circuit.

T O difesr 3R d& afhe & T v 3Rey Fau-Flia &

FIHBIST Sl SITEAT H|
OR
State and prove the De-Morgan’s laws of Boolean algebra.

gferaet diererfoig & St-ArTe & A & Tsg AR arfed w1

Simplify the Boolean function F (A, B, C,D) =X (0, 2, 8, 9, 10,
11, 14, 15) in sum of products and draw the logic diagram.
qfelaeT el &l EIel Y 3culal & ANT H F (A, B, C,D)=X (0,2,
8,9, 10, 11, 14, 15) 3R 3@ 3NT@T H|
OR
Explain three input NOR gate with truth table and logic circuit.

g dlfoieht 3R T Afhe & &Y AT $79¢ NOR e &
STEAT |

15 PTO





